4 (1/2)(4-x) (i/4)(12-3x-6Y)

@ [ dzdydx [ 0< x< 4; 0< ys%(4—x);05 zs%(lZ—3x—6y)

when x=y =0, z< (1/4)(12-3x-6y) =3, 0<z<3
since4z=12-3x-6y = y=(1/6)(12+3x-42)
when y=0, 12+3x-4z=0 = x=(-1/3)(4z-12)

T J_ z! J_dQ Is J_( 1/3)(4z-12) I(l/ﬁ)(12+3x 47) dyaixcz
a5) JjJ’ylL dzdxdy 0 O<y<1l y<x<l1

by rearranging 0<x<1 0<sy<Xx

0 f.ﬂdQ 2 Jﬁ [ daixy

(19) x:4—y2 z=0,z=x0 0<z<x0sx<4-y* -2<y<?2
256

Vef g ey =22
(2) x*+y*+z°=a’0 z=#%a* - (x* +y?)

if z=00 x*+y*=a’0 y=+Ja’-x*0 -as<x<a
Since f(x,y,z) is symmetric we only need to find the voI umein 1 quadrant and multiply by 8.

OV = SIJ'WI”‘ ) addydx x=gf [ N PO



